

學號 姓名 YPS 系所 班別 任課教師: YPS 共 張

<p>#1. (a) Let <math>u = 1 - x^2 \Rightarrow du = -2x dx</math>  <math>\Rightarrow x dx = -\frac{1}{2} du</math>  <math>\Rightarrow \int 5x \sqrt{1-x^2} dx = \int 5x (1-x^2)^{\frac{1}{2}} dx</math>  <math>= -\frac{5}{2} \int u^{\frac{1}{2}} du = -\frac{5}{2} \frac{1}{\frac{3}{2}+1} u^{\frac{3}{2}+1} + C</math>  <math>= -\frac{15}{8} (1-x^2)^{\frac{3}{2}} + C</math></p>	<p>#3. <math>f'(x) = \int f''(x) dx = \int x^{-\frac{2}{3}} dx</math>  <math>= 3x^{\frac{1}{3}} + C</math>  <math>\Rightarrow f'(8) = 3 \cdot 8^{\frac{1}{3}} + C = 6 + C = 6 \Rightarrow C = 0</math>  <math>\Rightarrow f'(x) = 3x^{\frac{1}{3}}</math>  <math>\Rightarrow f(x) = \int f'(x) dx = \int 3x^{\frac{1}{3}} dx</math>  <math>= 3 \cdot \frac{3}{4} x^{\frac{4}{3}} + C = \frac{9}{4} x^{\frac{4}{3}} + C</math>  <math>\Rightarrow f(0) = C = 0 \Rightarrow C = 0</math>  <math>\therefore f(x) = \frac{9}{4} x^{\frac{4}{3}}</math></p>
<p>(b) <math>u = x^3 + 3x + 4 \Rightarrow du = (3x^2 + 3) dx</math>  <math>\Rightarrow (x^2 + 1) dx = \frac{1}{3} du</math>  <math>\Rightarrow \int \frac{x^2 + 1}{\sqrt{x^3 + 3x + 4}} dx = \frac{1}{3} \int u^{-\frac{1}{2}} du</math>  <math>= \frac{1}{3} \frac{1}{-\frac{1}{2}+1} u^{-\frac{1}{2}+1} + C = \frac{2}{3} \sqrt{x^3 + 3x + 4} + C</math></p>	<p>#4. (a) <math>u = \sec x - 1 \Rightarrow du = (\sec x \cdot \tan x) dx</math>  <math>\Rightarrow \int \frac{\sec x \cdot \tan x}{\sec x - 1} dx = \int \frac{1}{u} du</math>  <math>= \ln( u ) + C = \ln( \sec x - 1 ) + C</math></p>
<p>(c) <math>u = \ln x \Rightarrow du = \frac{1}{x} dx</math>  <math>\Rightarrow \int \frac{\ln x}{x} dx = \int u du = \frac{1}{2} u^2 + C = \frac{1}{2} (\ln x)^2 + C</math></p>	<p>(b) <math>\int (\sin x + \cos x)^2 dx</math>  <math>= \int \sin^2 x + 2 \sin x \cos x + \cos^2 x dx</math>  <math>= \int 1 + 2 \sin x \cos x dx \quad \because \sin^2 x + \cos^2 x = 1</math>  <math>= \int dx + 2 \int \sin x \cdot d \sin x \quad \because d \sin x = \cos x dx</math>  <math>= x + \sin^2 x + C</math></p>
<p>(d) <math>u = 1 - e^{-x} \Rightarrow du = e^{-x} dx</math>  <math>\Rightarrow \int \frac{e^{-x}}{1 - e^{-x}} dx = \int \frac{1}{u} du</math>  <math>= \ln( u ) + C = \ln( 1 - e^{-x} ) + C</math></p>	
<p>(e) <math>\int \frac{e^{2x} + 2e^x + 1}{e^x} dx</math>  <math>= \int e^x dx + 2 \int dx + \int e^{-x} dx</math>  <math>= e^x + 2x - \int d e^{-x}</math>  <math>= e^x + 2x - e^{-x} + C</math></p>	
<p>(f) <math>\int \frac{1 + e^{-x}}{1 + x e^{-x}} dx = \int \frac{e^x}{e^x} \frac{1 + e^{-x}}{1 + x e^{-x}} dx</math>  <math>= \int \frac{e^x + 1}{e^x + x} dx \quad u = e^x + x</math>  <math>= \int \frac{1}{u} du \quad \Rightarrow du = (e^x + 1) dx</math>  <math>= \ln( u ) + C = \ln( e^x + x ) + C</math></p>	
<p>#2.  <math>f(x) = \int f'(x) dx = \int \frac{x^2 + 4x + 3}{x-1} dx</math>  <math>= \int x + 5 + \frac{8}{x-1} dx \quad \because \frac{x+5}{x-1} = \frac{x+5}{x-1}</math>  <math>= \frac{1}{2} x^2 + 5x + 8 \int \frac{1}{x-1} dx \quad \because \frac{x^2+4x+3}{x^2-x} = \frac{5x+3}{x-1}</math>  <math>= \frac{1}{2} x^2 + 5x + 8 \int \frac{1}{x-1} d(x-1) \quad \frac{5x+3}{x-1} = \frac{5x-5}{x-1} + \frac{8}{x-1}</math>  <math>= \frac{1}{2} x^2 + 5x + 8 \ln( x-1 ) + C</math>          But <math>f(2) = \frac{1}{2} \cdot 4 + 10 + 8 \ln(1) + C = 12 + C</math>  <math>= 4 \Rightarrow C = -8</math>  <math>\therefore f(x) = \frac{1}{2} x^2 + 5x + 8 \ln( x-1 ) - 8</math></p>	